TIME : 2 Hrs. MARKS : 50

N.B.; : 1) Q. No. 1. to 3 are compulsory.
2) Attemptany Two queé\tions from the rest.

Q' 1@l Interprete the given distribution map of India in detail. [05]
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b) Fill in the blanks. [05]
H g igii introduced the Rural landuse Model in 1826.
2) is one of the Problem related to urbanization.
B o explain the Sector Model in 1939.
4) Linear Settlement pattern develops along the ......... T .
D). oo il O line is border between India and China.

Q. 2. Interprete and calculate the Rn Statistic for given settlement pattern. [10]
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Q. 3. Write Short Note on. (Any Two) [10]
1) Important factors for site of Rural settlements.
2) Concentric Zone Model.

3) Characteristic features of developing countries. P.T.O0
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4) Impact of Globalization on Agriculture.

. Explain in detail the pattern of Rural settlements with suitable diagram. [10]
. Explain the functional classification of Towns in detail with examples. [10]

. Discuss the boundary problems of India and neighbouring countries.. [10]

Explain the impact of Globalization on Indian Economy. [10]
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